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holidays and luxuries is rather high in __ with his income.A
comparison B proportion C association D calculation2. The
President made his last public _ before his term of office ended.A
appearance B engagement C gathering D meeting3. There is no
much time left, so I’ |l tell you aboutit__.Ain detail B in brief C in
short D in all4. The population is leveling __in the area as a result of
family planning.A with B off C up D against5. The rain was heavy
and __ the land was flooded.A consequently B continuously C
constantly D consistently] [0 [J 1-5AABBA1L O A in
comparisonwithD O 0000 0000000000000 The
tallest buildings in London are small in comparison with those of
New York. I in proportion tol] [J [0 J OO O The insolence of the
vulgar is in proportion to their ignorance: they treat everything with
contempt which they do not understand. [ in association with [ [
OO00000000 They finished the work in association with
their friends.20] [J A make one’ s last appearance [J [ [ [0 [ [0 3
O OBOinbriefd OO OO O O This, in brief, is the answer to the
argument.Jinshort D0 O OO O0OOOOO Youcan’ tmake
me! lwon’ tdoit! Inshort, no!'4] 0B O level offl] O O O O O
[1 Prices leveled off after the inflation ended.J level with [0 [ [
OO0O0000000 Sheleveled with him and felt better for it.
OlevelupO0 OO0 O O0O0OO0O0O0OOOOOOO O Weshould level



the output of our factory up to that of the advanced. I level against
0000000 0O O Some of the criticisms leveled against us are

not altogetherfair 5. J A OO OO0 OOOOOOandO OO
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